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BEy BEy
BEy BFy><COEFFFx(1+3)
BFy BDF [GJIlyr]
BFvoly =< Densityy>< HVy
BFvly BFy [m3/yr]
Densityy BDF [ton/m3]
HVy BDF [GJ/ton]
COEFFF BDF LCACO:2 [tCO2/GJ]
o) GJ
[Lbiofuel/Lfossit] 1
L fossil [m/MJ]
Lbiofuet BDF [m/MJ]
BDF 100,000[t/yr]
BFy 100,000 =< 103 [kg/yr] >< 9,730[kcal/kg-BDF] > 20.2[tC/TJ] > 43.33[TJ/103ton] >
44/12[tCO2/tC]+10,950[kcal/kg-diesel]><1.0 2.85><105 [tCO2/yr]

PEy
PEy = FFBFPyj, y>< COEFFFoii+ BFmassy>< COEFFS PETranspl
FFBFPi,y  BDF [kl/yr]
COEFFFi LCACO2 [tCO2/KI]
BFmass, BDF [t-BDF/yr]
COEFFs BDF CO2 [tCO2/t-BDF]
PETranspl y  BDF BDF CO2
MLTranspl , BDF BDF [km]
COEF Transpl  BDF ( ) CO2 [kgCO2/km]
BDF 100,000[t/yr]

PEy = 2,900[kl/yr]><3.1[tCO2/kl] 0 105[t/yr] 15[t]><1,200[km]>=<0.77[kgCO2/km]
= 15,150 [tCO2/yr]

Ly Ly
Ly =ELy><COEFELy (1 Lossy)
ELy BDF
[MWh/yr]

COEFELy CO2 [tCO2/MWh]

Lossy [ 1
BDF 100,000[t/yr]

BDF 4,988[MWh/yr]

ACMO0002 “Average OM method” CO2 COEFELy  0.160
[tCO,/MWHh] 5 Ly

Ly= ELy><COEFELy (1 LOSSy)
= 4,988[MWh/yr]<0.160 [tCO/MWh] (1 0.05) = 840[tCO2/yr]
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1 negligible
GHG

ERy BDF 100,000[t/yr]
ERy
ERy=BEy PEy Ly
=2.85>105 [tCO2/yr] 15,150[tCO2/yr] O[tCO2/yr]
=2.70>105 [tCO2/yr]

(m),
(),
()

B1. BDF Galyr 100
BF,

B2. BFy m3/yr 100
B':valy

B3. BDF ton/m3
Densityy

B4. BDF GJiton
HVy

B5. BDF BDF tCO2/GJ 100
COEFFF LCACO:

B6. BDF m3 100
BF[produced]VOLy

P1. BDF ki 100
FFBFPoiI.y

P2. LCACO: CO2/kl 100
COEFFF i

P3. BDF 100
BFmassy

P4. BDF tCO./t-BDF PDD 100
COEFFs CO2

P5. BDF tCOzyr 100
P ETransply BDF

CO2

P6. BDF km 100
M |_Transp1vy BDF

P7. BDF kgCOz/km PDD 100
COEF™mode 1 CO2

L1. Mwh 100
EL,
BDF

L2. COz tCO/MWh le 100
COEFeL

L3. le 100
Lossy
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)

- ( )
BDF
() ()
()
() |
BDF —
BDF B2(2013 B5)
() ( )
25 US$
()

13 US$
() 10 US$

() 2  US$

1) BDF 25 US$
(2)

(3)BDF 50 50,000 / 2

100 100,000 /

(4)100,000 /  BDF 65.33 us

(5)BDF

PeoF=(Pdieset 1.0925)><0.80 2.20

Peor BDF [U$/ ]

Padiesel [RS/ ]

Paiesel  1.0925 (PISICOFINS 9.25 )
0.80 10
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220 1US$ 2.20R$

Pdieser 1.80 R$
PeoF=(1.80 1.0925)>=0.80 2.20
0.599 [US$/ ]

(6) 0.492[US$/ ] (2003 2005
3 FOB 10
(
@) 0.200 US$ kg
Oleoline 2008
(8) 34%
9) 10 0
(20) 1US 2.2R%( )
10
126 (CER 5US$/tCOz2)
CO21 8.0US$
CO2 1
[tCO2eq]

0.680 [US$/kg] (BDF

25,000,000[US$] 2,565,000 [tCOzeq] 9.75[US$/tCO2eq]

1,170[
|
( )
BDF
(@) 2003
(b) 2006
(©)
(a) BDF B2
BDF
(b)
2008 BDF

10

0.88[kg/ )
)
)
IRR 8.2 (CER )
IRR 15 IRR 15
10 CO2 2,565,000
CO2 1
tCO2eq] ( 120 /US$3)
2007
( )
BDF
BDF



